AR—AS1900 [BE#A]
[1. BmANY]
(RREBENS 7ERENBEEES - ARTSIEICREN GL+0m [2Kk5)

S=1:30

A ERER T
a~atilX

(W, SWH)

‘ 1500 ,_ 1500
»48.6x3.2
A N S
I 11 T- ..|

G‘ ; £ o ﬁ
| 13 C 1 {
JAXAySa i

(N TFooasiR) I

E _L_'D' i

LN 3| 8 ’;

\_ j = = 4

$

H

$50.8x2.37 11 | o 3l s |

il 3 g ‘L

D
350 350
INRILEIRE =I5
() mEBEEERT. o9
cb%
.
%{i N
Q - REsEE
Q
q

FA$EBN M8 x 35

S=1:6

3-fA1RBN M8 x 65

B ERER 4+ [X]

S=1:6

i g

22 AW

=

(W, SW1sF)

ERPECIA Vb

C ZRER{F X

S=1:6

m

i

\|

<

FA4EBN M8 x 40

(W, SW1H)

A a4 A1EBN M8 x 25 (W) 2-£5#RBN M8 x 25
L - / W) | W)
2-fB4EBN M8 x 65 —— - -apf- — - —— %};
(Wft) — —
Rg & $,
4| | T
Saqrrhn—_| L HEE /E == L GEES /E
B © ¥ |
‘ BN M8 x 70 ‘ £48BN M8 x 70
‘ (W) (We)
A2 R S 31%:\ L DOV
D ERER X S=1:6 E ERER{F X $=1:6 B Y EEIRMFE $=1:6
wze8 wze8 b~bi X wzeB

"%
1. SHEITDNT _
CEH. ER H#xEE8
Vaduh EREY IV MIRCO | -
ZITEE i

cOA X Aya

CERmET A ..
Y &R i

e | RS

fR#

£ 4EBN M8 x 70
W41
NIV aa 2k

b d/ Ll

a2l

FA$EBN M8 x 65

48BN M8 x 46
(W, SWfH)

R ()

TrT

Mo

HAgE8

F- - BAUS7HFREOEREEEL - AETFICEICRATZAIZKS,
E- - -BEBERST2. 9OmUT(EZEO. 3t/ m)
FEILEIEEOH LTS,
H., BRELEREOHELEILITHAEL,

- EHSARMHA 98 kN/m (10t./m)

HAIRESFLGVEDET B,

R &

“ARILE. FY b

CEHR TS - RTRUILERHOED
EETHR I AR R

- Binth > 2O LETHERIERIEMMAZE

L ARERG - 0 LETHRIE A A ER

 ARERO O ETDLEERLEL L
DRIk - F v FMEBREROSEDH

mYEE

¥

BIERR—H—

(F

ZT&E

72T BT M8 x 65
w ;2. W2ikd)

230408010—1

2024.03




